

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000001
Roll No. 2551261499
Regn. No. 25-DEO-1499

Name : ANSHUL KUMAR
Father's Name : MUKUL SAXENA
Mother's Name : AKHLESH SAXENA
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	65 22	40AG	100	O	10	04.0	40.0
2	CS-12 DATABASE SYSTEM	58 24	40AG	100	A+	9	04.0	36.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	61 23	40AG	100	A+	9	04.0	36.0
4	CS-14 PROGRAMMING IN PYTHON	63 22	40AG	100	O	10	04.0	40.0
	TOTAL	0338		0400			16.0	152.0
	GRAND TOTAL	0338		0400			16.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.50

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000002
Roll No. 2551261503
Regn. No. 25-DEO-1503

Name : DEEPAK CHOLIA
Father's Name : GOPI RAM CHOLIA
Mother's Name : SANTRO DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	56 27	40AG	100	A+	9	04.0	36.0
2	CS-12 DATABASE SYSTEM	65 15	40AG	100	A+	9	04.0	36.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	67 21	40AG	100	O	10	04.0	40.0
4	CS-14 PROGRAMMING IN PYTHON	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0334		0400			16.0	148.0
	GRAND TOTAL	0334		0400			16.0	148.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.25

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000003
Roll No. 2551261504
Regn. No. 25-DEO-1504

Name : ANJANI VERMA
Father's Name : SHIV KUMAR VERMA
Mother's Name : RAJ RANI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	49 21	40AG	100	A	8	04.0	32.0
2	CS-12 DATABASE SYSTEM	42 18	40AG	100	B+	7	04.0	28.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	53 23	40AG	100	A+	9	04.0	36.0
4	CS-14 PROGRAMMING IN PYTHON	42 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0266		0400			16.0	124.0
	GRAND TOTAL	0266		0400			16.0	124.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.75

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000004
Roll No. 2551261508
Regn. No. 25-DEO-1508

Name : PRIYA
Father's Name : RAMESH CHAND
Mother's Name : NEERAJ
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	58 16	40AG	100	A	8	04.0	32.0
2	CS-12 DATABASE SYSTEM	61 18	40AG	100	A+	9	04.0	36.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	56 12	40AG	100	A	8	04.0	32.0
4	CS-14 PROGRAMMING IN PYTHON	53 7	40AG	100	B+	7	04.0	28.0
	TOTAL	0281		0400			16.0	128.0
	GRAND TOTAL	0281		0400			16.0	128.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

Name : BHIM SINGH
Father's Name : NANU SINGH
Mother's Name : BHARPAI DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	61 8	40AG	100	A	8	04.0	32.0
2	CS-12 DATABASE SYSTEM	51 21	40AG	100	A	8	04.0	32.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	49 10	40AG	100	B+	7	04.0	28.0
4	CS-14 PROGRAMMING IN PYTHON	37 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0260		0400			16.0	120.0
	GRAND TOTAL	0260		0400			16.0	120.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000006
Roll No. 2551261511
Regn. No. 25-DEO-1511

Name : AMAN HANSDA
Father's Name : RAM LAL HANSDA
Mother's Name : SHANTI DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	65 29	40AG	100	O	10	04.0	40.0
2	CS-12 DATABASE SYSTEM	67 27	40AG	100	O	10	04.0	40.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	68 30	40AG	100	O	10	04.0	40.0
4	CS-14 PROGRAMMING IN PYTHON	65 29	40AG	100	O	10	04.0	40.0
	TOTAL	0380		0400			16.0	160.0
	GRAND TOTAL	0380		0400			16.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000007
Roll No. 2551261512
Regn. No. 25-DEO-1512

Name : RV RAHUL
Father's Name : C RAMESAN
Mother's Name : VANAJAKUMARY M
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	54 23	40AG	100	A+	9	04.0	36.0
2	CS-12 DATABASE SYSTEM	65 21	40AG	100	O	10	04.0	40.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	63 24	40AG	100	O	10	04.0	40.0
4	CS-14 PROGRAMMING IN PYTHON	63 23	40AG	100	O	10	04.0	40.0
	TOTAL	0336		0400			16.0	156.0
	GRAND TOTAL	0336		0400			16.0	156.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.75

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000008
Roll No. 2551261513
Regn. No. 25-DEO-1513

Name : SAKHA KHIRA SINDHU
Father's Name : SAKHA BANMALI
Mother's Name : SAMBARI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	56 20	40AG	100	A+	9	04.0	36.0
2	CS-12 DATABASE SYSTEM	63 16	40AG	100	A+	9	04.0	36.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	63 15	40AG	100	A+	9	04.0	36.0
4	CS-14 PROGRAMMING IN PYTHON	44 16	40AG	100	B+	7	04.0	28.0
	TOTAL	0293		0400			16.0	136.0
	GRAND TOTAL	0293		0400			16.0	136.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000009
Roll No. 2551261515
Regn. No. 25-DEO-1515

Name : HARDIK MALIK
Father's Name : RAVINDER MALIK
Mother's Name : NEETU RANI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	51 18	40AG	100	A	8	04.0	32.0
2	CS-12 DATABASE SYSTEM	33 16	40AG	100	C	5	04.0	20.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	26 22	40AG	100	C	5	04.0	20.0
4	CS-14 PROGRAMMING IN PYTHON	49 16	40AG	100	A	8	04.0	32.0
	TOTAL	0231		0400			16.0	104.0
	GRAND TOTAL	0231		0400			16.0	104.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.50

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
DIPLOMA IN CYBER SECURITY SEM-01 EXAM : JUN- 2025
(CBCS-CDOE)

DMC No. 000010
Roll No. 2551261516
Regn. No. 25-DEO-1516

Name : DIKSHU
Father's Name : SATBIR SINGH
Mother's Name : BABLI DEVI
Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CS-11 WEB TECHNOLOGIES	67 29	40AG	100	O	10	04.0	40.0
2	CS-12 DATABASE SYSTEM	68 25	40AG	100	O	10	04.0	40.0
3	CS-13 FUNDAMENTALS OF CRYPTOGRAPHY	70 30	40AG	100	O	10	04.0	40.0
4	CS-14 PROGRAMMING IN PYTHON	67 26	40AG	100	O	10	04.0	40.0
	TOTAL	0382		0400			16.0	160.0
	GRAND TOTAL	0382		0400			16.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
KURUKSHETRA

Checked by 1. _____ 2. _____
(Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____